
Mobile Robotics VMX/Titan Workshop Kit - Parts List (USA) 

Description Part # Image Qty 

IR Range Sensor (10 cm to 80 cm) 40117 

 

1 

IR Range Sensor Bracket 40118 

 

1 

Zip Ties, Blue, 150mm (100 pack) 70010 

 

100 

12V 3,000 mAh NiMH Battery Pack, PP45 70018 

 

1 

NiMH Battery Pack Charger, PP45 70019 

 

1 

2.5mm Hex Ball End Screwdriver 70142 

 

1 

Cobra Line Follower Sensor 70151 

 

1 

Titan Quad Motor Controller 70152 

 

1 

VMX Wire Pack 70160 

 

1 

Titan Cable Pack w/1 CAN Cable & 2 JST-VH to JST-VH Cable 70162 

 

1 

VMX Robotics Controller 70176 

 

1 

Power Switch 70183  1 

Power Switch Plate 70184  1 

USB Cable, Type A to Type C, Blue, 2M 70186 

 

1 

Ultrasonic Distance Sensor 70753 

 

1 

Ultrasonic Distance Sensor Bracket 40238 

 

1 

Analog Module w/JST-SH to JST-GH Cable 70755 

 

1 

PWM cable Set - TJC8 3 pin, 22AWG, F-F - 12 pcs 71011 

 

12 

Electronics Mounting Plate 71015  1 

Half Breadboard 71016  1 

Dupont Single Pin, 4 wire, F-F Cable - 2 pack 71014 

 

2 

SR-Pro Camera 71045 
 

1 

https://www.studica.com/studica-robotics/sharp-ir-range-sensor-10cm-to-80cm-w-wire
https://www.studica.com/studica-robotics/ir-range-sensor-bracket
https://www.studica.com/studica-robotics/zip-ties-blue-150mm-100-pack
https://www.studica.com/studica-robotics/12v-3000-mah-nimh-battery-pack-pp45
https://www.studica.com/studica-robotics/nimh-battery-pack-charger-pp45
https://www.studica.com/studica-robotics/2-5mm-hex-ball-end-screwdriver
https://www.studica.com/studica-robotics/cobra-line-follower-sensor
https://www.studica.com/studica-robotics/titan-quad-motor-controller
https://www.studica.com/studica-robotics/vmcable-pack
https://www.studica.com/studica-robotics/titan-wire-pack
https://www.studica.com/studica-robotics/vmrobotics-controller
https://www.studica.com/studica-robotics/power-switch
https://www.studica.com/studica-robotics/power-switch-plate
https://www.studica.com/studica-robotics/usb-cable-type-a-to-type-c-blue-1m
https://www.studica.com/studica-robotics/ultrasonic-distance-sensor
https://www.studica.com/studica-robotics/ultrasonic-distance-sensor-bracket
https://www.studica.com/studica-robotics/analog-module-with-jst-sh-to-jst-gh-cable
https://www.studica.com/studica-robotics/pwm-cable-set-tjc8-3-pin-22awg-f-f-12-pieces
https://www.studica.com/studica-robotics/electronics-mounting-plate-for-workshop
https://www.studica.com/studica-robotics/dupont-single-pin-4-wire-female-to-female-cable-22awg-2-pack


Maverick 12V DC Gear Motor w/Encoder 75001 

 

1 

Multi-Mode Smart Servo 75002 

 

1 

Smart Robot Servo Programmer 75003 

 

1 

Servo Power Block 75006 

 

1 

Short Lever Limit Switch (4 pack) 72060 

 

4 

288mm U-Channel (2 pack) 76013-2 

 

2 

144mm U-Channel (2 pack) 76016-2 

 

2 

Battery Clip (2 pack) 76088-2 

 

2 

Inside L Bracket (2 pack) 76089-2 

 

2 

Motor Mount Clamp Kit 76141 

 

1 

End Piece Plate (2 pack) 76143-2 

 

2 

Servo Mount Offset Plate 76146 

 

1 

48mm Standoff (12 pack) 76181-12 

 

12 

25mm Standoff (12 pack) 76182-12 

 

12 

M3 x 8mm Socket Head Cap Screw (pack of 100) 76200-100 

 

100 

M3 x 12mm Socket Head Cap Screw (pack of 100) 76202-100 

 

100 

M3 Kep Nut (pack of 100) 76204-100 

 

100 

M3 x 30mm Socket Head Cap Screw 76206-50  50 

M3 x 20mm Socket Head Cap Screw 76209-50  50 

Shaft Spacer Plastic 6mm ID x 10mm OD x 2mm L (24 pack) 76306-24 

 

24 

Omni Wheel  
(100mm, Double Plastic, w/ integrated 6mm Hub) 76260 

 
  1 

 

https://www.studica.com/studica-robotics/maverick-dc-gear-motor-601-w-encoder
https://www.studica.com/studica-robotics/multi-mode-smart-servo
https://www.studica.com/studica-robotics/smart-robot-servo-programmer-2
https://www.studica.com/studica-robotics/servo-power-block
https://www.studica.com/studica-robotics/short-lever-limit-switch-with-terminals-4-pack
https://www.studica.com/studica-robotics/288mm-u-channel-2-pack
https://www.studica.com/studica-robotics/144mm-u-channel-2-pack
https://www.studica.com/studica-robotics/battery-clip-2-pack
https://www.studica.com/studica-robotics/inside-l-bracket-2-pack
https://www.studica.com/studica-robotics/motor-mount-clamp-kit
https://www.studica.com/studica-robotics/end-piece-plate-2-pack
https://www.studica.com/studica-robotics/servo-mount-offset-plate
https://www.studica.com/studica-robotics/48mm-standoff-12-pack
https://www.studica.com/studica-robotics/25mm-standoff-12-pack
https://www.studica.com/studica-robotics/m3-8mm-socketad-cap-screw-100-pack
https://www.studica.com/studica-robotics/m3-12mm-socketad-cap-screw-100-pack
https://www.studica.com/studica-robotics/m3-kep-nut-pack-of-100
https://www.studica.com/studica-robotics/m3-30mm-socketad-cap-screw-50-pack
https://www.studica.com/studica-robotics/m3-20mm-socketad-cap-screw-50-pack
https://www.studica.com/studica-robotics/shaft-spacer-2mm-nylon-24-pack
https://www.studica.com/studica-robotics/omni-wheel-100mm-double-plastic-w-6mm-hub

